K0489
Kin

Z0IE RE F4E ¢=0l=

&5 89/HMF ololx|

ZL

THE:

AR S R0|E.

A S E ATF 1SO 4762 2 SZF L{E 1SO 4032, A&

%A @20mm §2Z §= LEAFISO 4017 2! €2} L{E DIN 985, A&l

e,

XoE RE HUEE 180°E AIREH =ZH 7Is&
A A|

I1¥8 23T iy & &2F

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/3



°
= L= o= —]
-*—ou_IE 11'E 9" —1IE'I E-l-ulE
=S MdYH/XIE olo]x|
=H
= , 1/ -
<| | | | \ | @ |
| X T EEp— '
B C T
- H | M N
L
|
FF“ N Bl |
I D | - | ola
L] :
I
i/
= g9
ZOIE RE F{UE, AR0|E
FEHS A B C D E H L M P R S
K0489.512 12,1 12,1 25 26 29,4 44 88 44 21 37,5 M6x18
K0489.514 14,1 14,1 25 26 29,4 44 88 44 21 37,5 M6x18
K0489.516 16,1 16,1 25 26 29,4 44 88 44 21 37,5 M6x18
K0489.518 18,1 18,1 25 26 29,4 44 88 44 21 37,5 M6x18
K0489.520 20,1 20,1 45 40 40 73 146 73 33 51 M8x35

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



K0489

°
(o) Ed J{UlE] 2t=20|=
-*—-.IE ™ 9" —|E'| E'I'DIE
== g9
TEHS A B cC D E H L M P R S
K0489.525 25,1 25,1 45 40 40 73 146 73 33 51 M8x35
K0489.530 30,1 30,1 45 40 40 73 146 73 33 51 M8x35
K0489.540 40,15 40,15 60 56 56 100 200 100 48 70 M10x50

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com 3/3



